
x-: 8385093.48mm

y-: 5503092.13mm
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Łuk

R= 120,00

g[g]= 6,8823

Ł= 12,97

T= 6,49

B= 0,18

X(N)= 5503094,48
Y(E)= 8385073,32

Łuk

R= 120,00

g[g]= 19,3585

Ł= 36,49

T= 18,39

B= 1,40

X(N)= 5503099,69
Y(E)= 8385036,77

Załom

w prawo

g[g]= 0,2481

X(N)= 5503089,28
Y(E)= 8384973,27

Łuk

R= 300,00

g[g]= 10,0082

Ł= 47,16

T= 23,63

B= 0,93

X(N)= 5503081,04
Y(E)= 8384921,75

Załom

w prawo

g[g]= 0,8687

X(N)= 5503080,95
Y(E)= 8384856,84

Łuk

R= 30,00

g[g]= 10,8467
Ł= 5,11

T= 2,56

B= 0,11

X(N)= 5503081,44
Y(E)= 8384816,87

Łuk

R= 30,00

g[g]= 9,2625

Ł= 4,36

T= 2,19

B= 0,08

X(N)= 5503083,54
Y(E)= 8384805,50

Łuk

R= 30,00

g[g]= 12,3682

Ł= 5,83

T= 2,92

B= 0,14

X(N)= 5503093,28
Y(E)= 8384776,89

Załom

w lewo

g[g]= 0,4825

X(N)= 5503099,10
Y(E)= 8384733,67

Załom

w prawo

g[g]= 2,8283

X(N)= 5503102,76
Y(E)= 8384704,84
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